04+704=704*4= 2816
+618+618=542*3+618*2

6= 2862

a) 1344 ©6) 3145 B)11280 1)
73



4=24+24+24+2

(2 " -B)*5= (2a-B)+(2a-B)+(2a-B)+(2a-B)+(2a-B)



60: 12




Tema ypoxka:

BOVICTBA
YKEeHMS.

. Iesp:

YJIpOBaTh CBOVICTBA YMHO>KE€HMSI
YUUTHCSA IIPUMEHATH MX IIPU

. pelileHu IIPUMepOB.



IlepemecTuTe IbH
o€ CBOVICTBO

a*B=B*a

3*2)=5%*6 =30

CodeTarTesIbHOE
CBOVICTBO

'50% (2 * 764)= (50 * 2) * 764 =76400

*B)*C

25 *86 *4= 25*4*86= 100"86= 8600



CKMX KpeCTbsH

126+252+1008+4032=5418




00 KpecTHKa



